Polynomials - Simplify 8 monomials and fractions with 1 variable:

Simplifying monomials and fractions with one variable:

4 51
1) 1202 + 1307 + 3202 + 13b+ 2% + 1 - 31p° - 27
3 8 2 4 5 2 4

1 .1 1 2 .2 1 .1 7
2) 1=-3-n*+1---n+3-n*+3=-2-n*-1-n
2 2 4 3 3 3 2 8

1
3) 2ln+ It eaZne 131+ 102+ 150332,
2 2 3 5 6 4 3

4 1
4) 132 r1tnratne 32 2 ni 013
5 2 3 7 5 2 7

5
5) X3+ 32+ 12 453 +3Ex+ 4% + 20 28
3 3 2 6 7

1 2

6)1§k—2+2—+1— S+ 12
8 6 7

1
k-=k*+1-k+= -1-k°
6 7 6 6

4 1 3 2 1 5 3
7) — +=p°+3p°+4=p°-3=+=p3+6=p®+3=
)7 2p P 5p 7 8p 6p 4

4, 3 2
8) 11k 22+ 210 - 1212 433 442 - S -3
5 5 8 3 4 '3 7 3

1 2 7
9) 220 -T2 +n+1+2n2+2on2 + In-12
3 2 5 5 8 5

1 1 3 1 1
10) 1= - 12m2 +32 - 23m+ S e m- 1t 4 12
2 76 6 8 4 2 2

2
11) Zx-ad+1ix-3ne v 1t v1t v atiaade
7 5 4 2 '3 5 8

3 6 6
12) 3lx+a3+ate -3 5,00 33,1
4 8 7 5 7 7 8 3
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3
4

4

13) 3lp+2t 11273+ 3p+12p-2 b2+ 2
2 4 "3 5 8 5

3
14) 1358 + 1 x+ 333 + Sxr 2@ + 122 — 1253 - 35
4 8 5 5 6 5 5

1
15) 32 443K+ 1502 + 25k + 2+ 42K + 25K+ —
5 5 4 3 5 5 4

3 1, 3
16) x3—8+z —1§x3+gx2+1—x2+4x3

3 2 2
17) =m® - 1202 + 1307 + Zm+ 42wl + 2m® + 4502 + Zm
8 8 2 7 4 3 3

4 6 1 2
18) 3l -2 218 - i atl hons e
8 7 7 7 2 2 5

1
19) 6-a+a-load+3 a2 +2 +4°a+2°47
2 2 3 6 7

1 3 7
20) Len+in-2p3eat 3 0y gl
3 2 3 7 8 8

6 1
21) 1-—n’+ 1303 - TneaZn? 4 42043300 412
7 72 7 2 8 5

1 2 1 1
22) 13- 53 4 23 4 4 4 = 4 204 22 = 2253
6 2 3 6 4 6

2

4 1, 1, .1, .3 2 5 .1 3
23) 1—-p+1=p*+=p®+1=-p?-1>p+3=p+2=p-3=
) 5p 2p 7p 6p 7p 5p 6p 4p

1 1 2 1.1
24) 1-x% +2x° +=x + 332422+ 1xr 11428
4 2" 4 3 5 6 7

1 3
25) =v? + 13y + 1%v + 3.§v3 Vv EVS + 1%v2 -v
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26) YR A S [ B [ S S
8 2 2 5 3

5 1 3
27) 2l i1+ 2me12 -t 438 - om-2
6 3 6 7 2 7 4

28) 2X3_3ﬂ+1X3+3§+EX+£X3+4§—X
5 3 5 3 4 7

1.4 1 .2 1. .1
29) X*-= +—= -1=x+3-x°+1-x-3=x*-1
4 5 "2° 3 2" 2

1
30) = +8n®*+2n°+ 6n° +4n+22n+6n7 - 1
2 3 4 3 5

31) 22v+at i3l ovo1liatviolean
3 2 6 6 5 6

5 5
32) =n+n®+>=n+ 2l 3221z tagt
8 2 6 3 3 5

2 1 3
33) = 120+ L Copen+S o120 1t
2 4 6 6

1
34) 2m? - lgmg‘ +5m- Zém2 + Emg‘ +2m3 + ngz -m

2 1
35) ol + 24804 S de L 3,
3 3 7 7 5 2 8

5
36) —n®+ 2 e mee1tne 12 cene o 10+ 3dn2
2 6 3 7 2

1 7
37) 42+ 208 +4-1207 1207 + 2= L + ap?
7 6 2 8

1 3 1 2 1 1 6
38) 1= -2p°+3=+1-p+2=p°+=p-= -1-p°
) 3 P 8 4p 5p 3p 2 7p
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1 3 5
39) = - 3332 +2x¢ =2 -5+ 23 152 +1°
3 5 5 7 2 8

1 1
40) = + 12183 + 6% = 12K + 21k + Tk + 42K2 + 12K3
3 73 2 6 2 2 7

4 1 2,

3
41) =x-2—+3=x-1-x 3-122
5 5 20 73

1
3+L w1l 12
2 4 8

+21x
4

1 4 1 1 1 2
42) 1-m*+7m* +1-m*-5-m’ - 1-m+ 22m-3im2 + Zpp
4 7 3 2 6 3 3

6
43) 1= SPEL NP ENPPEN: +16x-+81——x
6 8 8 4 5 7 6 7

1 1, 4 .6, 2 7
44) 1=p+=p’+—p+2= +Zp+2liat
) 2p 2p 59 7p p p p

3 3 8
1 1
45) GNP P L PP AP
5 3 3 3 2 6
3 .1, 2 1 3 3

46) 1= +2-n*+= +2n°+8n*+2=-n*+1-n®+1=
7 3 5 3 4 8

3

47) tf+36b+ 224 b 2= b3+mf+ b2+1 b

35.2 .43 .41

48) 1-x3 —=x+1-x+1= il 12 2te gl
4" 3 5 30 T 6 7 2

3
49) 2413213 232200043 o002,
7 2 6 8 5 6

+ 2r

1

1, 3 1
50) 1=k*+—k*+3=
2 5 6

2.5 3 1
#3203 =Sk 4t —11Kk- 228
5 4 6 2 6

51) 3§—1lx+14x+41+41 2+2§x2—3§x3+11
4 "4 5 3 7 7 8
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2 1
52) 2+ 23 4t 11258 - Ix s 13x 451 121y
3 4 "7 6 "8 7 4

1 1
53) 12 12pstp? 44t - Tpr1ip2+12 415
2 "7 8 7 4 73 777

3 4
54) 12 44202+ —om- 2 4 7m® + 33m- 22
7 7 8 7 2 3

35,1 1 2

55) 22+ 3034 In% o0 —12 4 15—+ 2253
6 7 2 8 4 7
1

56) 6x3+—x+3gx+33x3+2£x2+2x2+2§x+1§x3
4" 73" 3 2 6 8

1
57) 413 41258 4 20+ T3 = 323 + 4250+ 42 + 1550
8 3 4 8 6 8 2

7 3 1 1 1
58) PRI I L S S
4 8 2 7 8 3 4
2
59) ot L2032, 3fk3 + 31k ratie+ 1236 + 23
2 3 5 7 2 2 5 4

3,..7.,1. 1, 5,5 2 1,
60) 2°p>+1—+1>+1-p>-1>p*+=p-2+3=
) P gl TP PP 2"

61) 12n+2m +5n-1L+22m + 1202 — 110431
3 8 3 5 2 6

4 3
62) — + 3tz 3243t 32,81 2 oL
7 2 4 2 3 4 5

1 1 1 1 3 2 2
63) —n—-=n"+1-n°-3=n- 2324309 1204 22
2 2 2 6 7 4 3 3

3 2 1
64) — poC 15+ 2 4 Ix w42 1 1254312
4 4 5 2
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65) 12042 2+ 3paat o322 403 24
6 2 5 8 7 5 6

3
66) 6a+ 3taeataz 22 1lai3a41243t
2 4 3 3" 8 5 2

3 2 1 2 1 4 2 .3
67) —p’+1=+4--1-p*+3=p+4—p-1-+1-p°
) gP iy Ay g s pragp Tyt p

1 1 1 1 1 1
68) —r +2=r’+r°+1=-2-r+= +r+2r?
5 3 6 2 2 3

1

69)2 Lpio2 b3+1 b+b3+13 2

1b 1= b3 1=
3

5 1 2
70) = -= 2 +atx-22 13011302 14ty
8 4 72 7 5 7 7

5 2
71) 2 e oat42a-22 1203 + 22 —12a s at
3 8 6 3 2 5

leo1li3e

1 4 5
72) =n®-— +1>n 2
4 7 4

6
+-n-1-n
7 6

1s

1 1 1 3
73) 22X - = +2-SXPH X+ S =X - 135
2 2 2 5 3

4
74) 32m% —32m+ 22 - 2P - 12m2 + 12mP + 35 m+ 1
6 3 75 6 3 2

3 2
75) 25 - 7x+ 233 + 12 4+ 130+ 42 + 2 + 1k
4 7 4 4" '3 5 8

1 1 1 2, 2 1
76) 4=r 21t 422 -2  m 5240 Sy T2
4 2 '8 2 3 3 2

5 2
77 V2 —v+13+3§v 112022
4 4 8 7 7 5
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2
78) 3l _12p3 22 3lpopr a1l s Zp2 oo
3 5 5 3 2 5

1 1
79) =m* - 12me 41t 42202 o+ 13m0 4 2308 4 T
5 2 2 7 7 8 6

1
80) L - 1tx+12x-233 413 1242353 - 32y
2 4" T30 7 4 8 7

5 2 .4 1 1 1
8l) =~ -1=x+1-x’-6-=x"+2=x"-x>-2=
8 5 7 2 3 6

5, 2 5 ., 1 1, .4
82) 2—p°+1—p+— + +4—p+1—p°—-2—+2
) 2 P Hlopr o+ T4 prlipT -2 +2p

1
83) n® - PP S D P TN SIS
7 5 4 5 8 2

1 3 6

84) =k®+3-k+4— 2 2
4 4 7

K3 -1 k- 1002 + 3212 + 4243 - 2k
8 6 3 5 5

1 1 1 2
85) —m°® +=m’ + 220+ L _ 22 e 12mP 422 1207
7 2 7 6 3

5 5
86) 13 1l 2 e e ki nde1t
8 6 6 7 4

87) 1 s2+ 23 patpe 030043
8 3 4 8 5 5

3 3
88) a+— +4388 +3%a- 11+ 322 + 39
5 8 6 2

2 1 2, 1
89) 5x+1-x>+2x3-1-x+ 122 + 453 + 3252 + 2
3 6 55 7

3 4 1
90) 3202 - 220+ 208 - 2 44302+ I 1o o2
3 7 5 7 4 4
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1 5 2 2 3 5 5
o) 11pP+ = +2pP—12 422 p+6°p+pd+
) p 2 8p 7 3p 4p 7p 6

3
92) 334322412233 112 43824350112
5 8 5 "7 3 3 77

3 1
93) 12 31442503 435 4 %430
2 5 7 5 3 4

1 7 .1 1 1
94) 1-b*+1—-+1-b+ a3p-21+13 e -1
2 8 '3 4" "5 "4 3

95) 26a 12t 1o1teelaes —3§a2
7 7 3 4 4 7
3 1
96)n+3 +=n-— 13 3+—+33—n—31n3
2 7 7 2 3 4

97) 6m3—3§+m+ 1%m3+6+1§m2—m+ 120

3 5
98) x+— +23—63 X2+ 2553+ 23 43052 - 12
7 3 76 6 2

1
99) 3t 112 1% 1 hcate
7 2 3 5 5 2 3 5

5 1
100) 4950 4+ 12043 4 2 + 15k 4 12x - 53 + 5
7 7 8 5

3 1
101) 9X2+—+2§x2+21—)(+1§+ 2_2£+_X
5 6 1 11 2
1 11 3 7
102) 3——V+4§V 1i Vv -V + 35
3 9 11 12 4 9
3
103) 11 3peal sy 32m+6me + 5ot - 21 - m
2 4 11 8 12 2
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104) 2202 230 30 1tz et igla1taz gt
4 11 6 11 2 9 3 12

105) 6-—p3+—p?+=p°-1-p+1-p*+12-—p?+—
) 127 TP TeP TP AEP 5P TP
1
106) 1202 420+ 6o 42— 122+ Lne 1S3+ 152
3 7 10 3 10 10 5

1 1. .1 1
107) =x° + 1851638 +12x-112 45558~ 11 - 2y
2 11" 5 37 T4 4 5

2 1
108) 122 46+ 23 -1 2 113 40823 + 12
6 10 7 12 5 9 4

109) 62 + 1b +103p - §b3 + 5i +5ip3s 1> 4 2L 2
8 3 3 9 11 4 10 11

7 8
110) —m? + 2mr1tmeeme+ 72+ Smr104 130
8 8 11 7 11 11 4

4 5 1 1
111) 19034522441 -4y 22, 1 gt L
11 7 4 5 9 3 3 2

2 1
112) 3922, 25,3 o35l YLy
10 6 3 10 4 8 10 3

4 5
113) 11— 2212 s 7o + 203 —on+ 4202
11 5 8 8 3

114) 312 i1tlvia 2y e o3ty o1
12 3 1 5 12 "7

1 1 1, 1 3
115) 5=n3- 1> 10 +5=nf 462+ 1P = - >
8 12 12 6 3 2 1

1
116) — + 63x3 et 1i + 2§x2 1 teqt
12 11 5 2 10 4 11 3
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6
117) 2328 131 13, 1301 12 102
5 7 8 7 7 2 12 9

5, 6
118) 52 - 1532 16552 + 15 + 2 x4 22 = 2y 1 43,0
4 "4 8 8 4 8 7 4

2 1
119) Zoitpat i st 3oy
3 4 2 2 10
2, 2 7 10 1, 1, 1
120) b>-1=b+6=b*-1—+-—b+=b*+=b®-=b
5 7 12 11° 2 6 4
5 15,2 5 7, 2 1

121) 6— a+1 +-a’+2-a+— +4-a*-1-a+4—
5 8 3 5 7 8 5 12

1,,,3 1

5 7
122) —n+-—n®+2= s23n-tsatnz_qon+2
7 11 3 5 2 2

11 2 1 1 1 1
123) “p-—p?+1=+1-p+4=-p +2-p?-2-1-p°
) GP TP i Fl praTpTH2 D P

9
2 1
124) alr1te g3 o151t 212 a32
8 9 7 37 4 3 4 6
1 1
8 5 1. .7 4.0 1 ,,1

125) 1—x+4—+=x*+1=-+1—x+1
9 9 2 9 12 5 3 12

7 1 1l 5
126) 2— +12— +2+2 +6 +——1
) 9 p p p 1 p 1Op

2 5
127) 3in ot st 63— 1 n+ 22 o1 lne 2
2 5 7 "8 3 12 6

05,1ty h1s1224y-824al

128) 1—
11 3 12 7 9 2

11 1 1
129) —k+ 12 ke -1+ T 1t 12k
12 3 4 4 3 9 9
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1 2
130) x +—=X +11x +55+47x +16+—x +41x
3 2 7 8 7 9 5

7 1
131) 2n® + 6on+60m2 -t 4 2n s 1308 + 130 4 32
4 9 11 5 5 9

7 3, 1
132) —r - ol trio224gt 32 1 3t
10 2 10 6 10 5 3 4

1 ,1; 6 2 2 4
133) 12= =113+ =2+ ¥ -22 + 213 - = + ¢2
4 3 7 3 3 7

2 7 2
134) 62X +523 +12x- 5+ @ 41150 4 2x 2 2
3 6 9 3 10 4 5 11

4 5
135) 5242 + 12a + 6£a + 51a2 +— +—-a°- 1§a3 P
6 3 11 11 7 8 4 12
3b3+1 922t 130453 1lpe s tpe

136) 1— b2+4 =
3 10 3 4 4 78 8

4
137) b2——b3+ e 2 g5 b3 +3p-12p
37 5 9 7 3

4 11 1
138) 130 1By Ao e e Ae gy
4 12 11 12 4 3 9 5

1 4
139) 6k — —k3 + 2t _62 k5l o+ k-2
10 9 12 9 11 5

4 1
140) 1l et i12e 1342330 50 ot
9 9 5 8 7 4 4

4 1 8 5 7
141) 3v° —-— +1-v2 + 120 13+ 8y 2 468
5 "2 6 79 7 9

3 1 1 1 3 1 2
142) 2p-—p? +=p®-2=p+2=+3—p?
) 2p 7p 3p 8IO 8 10IO 3 5
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3 1
143) =x* + 22 x+at 1t ratyiiody st
5 11° 9 4 "3 9 3 2

1
144) 18041t 162+ T vp 3433415328
11 2 9 2 10 8 7 2

1 1
145) =a® + 19130 2 632+ te ot t
6 11 11 3 5 2 3 12

1 4, 1 1, 8 _1
146) =V +3—v? + =2 -2V —— + 5 + VP -
2 9 5 6 11 4 3 3

4
147) — +a+2a°+ 1ga3 reli1iaratasist
5 7 7 6 8 2

2 1 1
148) —x+= v2-t-1ixret 1l v 12y
3 3 2 8 4 7 5

1 2 1 1 1 9
149) 1-n+3=n®+ 1=>n-13 o1l et 2n 12
3 3 11 4 8 3 11 6

3 1 7 5 7 3 3 3
150) —p+—p°+—p®+5—-—p+—-p+3=--1-p°
)5p llp 12p 12 llp 5p P

1 1 1
151) 122324 e g3 L0240 Lo
8 5 5 4 12 7 9 1

152) 35S xratia o1+ 13k 4510 - 2
5 100 4 10 77
5 7
153) =b” + 51+ 1207 - L~ 2p% 4 141207 + 12b°
7 8 7 9 11
4 1 7 4
154) 522+ 2 415 o1 3oLz ads Ly
8 7 4 8 2
1
155) o miat i1t eate sl 16t -t
4 4 11 5 9 11 5 2
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1 1
156) 38 et 13e o1 2n i1t 2 63— 10n
1 3 4 5 3 2 5

6 1, 4
157) 1350 +12 420014l 2+ 2+ 88412
5 2 7 8 37 7 10
2 2 3.1, .7 .1, .8,
158) =p® - 1= -2=+3=-p’+3-+5—p®+1—
) p 3 7IO 5 "2 "7g 7P ThP

1 5 2 4 3
159) —a’-1la+— + 10202 +12a° + 7302 + 24— 4
5 7 6 5 5 11

1
160) 6gv + 6gv2 r5l2 190 20322, L 322
3 3 3 7 6 3 2

1 4 1 1
161) —x+ 153 a1 35 20 e 62y

12 2 12 11° 11 4 2 3

162) 1b2 - 10b% + 13b3 - 33b + esib2 + 11b3 + zib2 - zb
2 7 11 10 6 10 9
5, .9 1 1 2 3 5 1

163) —n*-3—n+1-n*-3=n-3-n’+1-n*+2=--1-—n
6 10 2 2 9 4 6 12

3
164) PED NN PN S NP ELAN JIPE ..
2 4 5 6 11 3

-8

1 1
165) 51a2-38 to-1lpds Lozl g2 409
4 11 2" 10 5

1 6 5

166)——1§k3+2§k+61k2 442> k+ k3
9 "3 3 9 7"

4 4 1 1 1 1
167) 2e i1t eiglir 2 i3lessls
6 11 5 12 2 11 2 2"

5
168) 62 461 + 5 3ri2d 3+11+—r3+1§r2+5£r
7 12 11 3 6 4
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169) 61 —1-Lx+ox+55xd+31 421541250 11
11 10 6 2 4 3 2

7 1, 5 4
170) — RN FU I L - ..
9 2 1 8 "2 5

n n
6 12 10

3.3 7.1
172)39k+4 k2 +=k?+1-k+=k*—— +1-k
4 4 8 2 8

2 1
173) atx+ 5+ 33 - 2152 112504 12x - 6x + 61%3
2 3 3 5 7 4

3 1 1 1 7 1 1 1
174) —n®*+2—n+6-n-3=-n’+1-n*+4-n®+4-n*+10-—n
11 4 3 9 2 6 10

10
1
175) 102 +9+4— —on- 241> 46 n2_on
10 4 10 10
2
176) 2L 2ot 124520 120411
127 11 9 9 3 11 2
3 3
177) 2b-1= 213 + 1208 + 6.+ 207 + b+ b2—1i
3 6 12
2
178) 23 = 1254355 + Sx+ 03 4 4-Lx2 + 1253 + 1.2
3 3 4 9 7 11 11 7

5
179) 11ar62a2+33a- 1 a3 + 1502+ 20+ 5242 + 8a°
5 8 4 8 10 8 11

2 5 2 1
180) 10r® = =r+—r-=r>-1=+ 38124122
5 12 5 3 1 11

6
181)41+69 212y 3l s ie24i2 -2y
8 10 5 12 6 6 11
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3,5.5 6 2
182) 13430 42 4 at o3y 0531 95,2
5 4 7 2 127 7

3
183) 6ok + 5k + 1 K- 2k 4 BLKE + 15K+ k2 + 15K3
6 12 8 2 8 11 5

6 4 1
184) —x-—x°+ 13X+ o + 1o + 22 + T = 20
7 5 4 10 10 10

1 1 2 7 4 1 1 6
185) 4=+2-n’>+1-n’>+2—n’-—n+=-n"--n+—-n°
4 2 5 8 11 6 2 7

3 1 6
186) =n®-=n+7n°+ 22 _Sni3tian-1in
4 4 5 7 9 6 2

1 1 9
187) 12, Lo ls 32, 3§r 12495 1 8,
10 3 8 11 8 4 11 11

2 6 1
188) — - 21012321224 Oy i323 Liigye
11 11 4 3 11 74

3 4 1 3 11 3

1
189) 1k +6-k*+2=k*+= +6-k+k-1-—=-1"K?
4 7 5 2 4 12 "4
1.7 1
190) 313 45y 150 =3 053 4 =+ Ly 42 0 Ly
2 5 11° 4 8 11 2

4 7
191) 3113541205 130+ Ao 1t Ly
3 4 5 10 4" 5 4 12

7
192) 22 413110+ 9 m - Ime 1t e al 12300
9 1 8 9 3 12 10
15,3 3 1 1
193) 14+ 4507+ 507 —n+ o0 + 1502 + 45 + 3103

2 8 8 2 8 2
5
194) 5%+ 55 + 153 +2+ 2x+ 2258 + 3% + 6
47 "2 "4 6 8 2 2
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1
195) 61— 92n+ i 15n-12 41203 150+ 22
3 5 3 4 8 7 5 9

1 1
196) VI G U N P S A VY oy B E
6 3 2 7 12 8 5 2

3

197) 222 a2 13k e c1tie v 320 - o + 51k
7 9 5 4 4 6 9

11 11 1 7 1 2 6
198) — +6—a’+— +—a+ 2222 +11a2 +92 + 24
12 12 4 8 6 4 3 7

9 .1

1,
199) =n L 3
3 9 9 10 3

+ 4§n2 +2 113,

200) 11x+8l+ 1 Cralipl x+1x+18x 2_q1
2 9 5 8 5 9 5

Teaa> -3 43 2—1ix—3118—1§x2—11—13x

201)
200 Y4 7187 78 13

15 15
202) ~x*+5— -2x° - — - 28 o3 58
4 10 19 9 19 9

117
203) ~m+—m°+9-11m® - 232 + 9 - 1mF - 2
4 20 10 10

2 2
204) 8L +16v7 -2 100 -1z -2 1311y
13 3 '8 4 3 8 4
1 1
205) 20n® - 16n° - —n® +1— 8 s 12,1 83,9%
15 13" V20 15 13 20

1 5 1 5
8- 4ta? - TP g 1ta- g+ gl -11a

206)
18 20 11 g 2 1 8

ol

207) 2n+2n° - in Sin _ent- in - Sin2 _gLp
14 16 18 14 16 18
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208) 6 — X+ 22X = 2— 1—x+ 2 —2 - 1-x
10 20 20

13 11 11
209) —n3 3l ln- T i1 2810l 12 p?
12 127 18 11 127 18 11
210) 102253 + 15 + 18x - 6x? — 2533 + 18x - 6x? — 21153
19 13 19 15 19 15

1 1 13 1 13
211) 613 +4ir2-3 132 B2 glis g9 13
8 6 10 20 19 10 20 19

212) 1202 2012092012 1023 0dn 12 1 020
7 7 5 9 6 5 9 6

5 5
213) 7+ 103x3 —9-19x+—x* -9 - 19x + —x*
13 12 12
1 3 3
214) 1+1v+1-Sv-52241-y_542
3 4 11 4 11
1 1, 2 1

2., 2
215) 1-k3 +1—Kk? ——k+3 +=k3 - =k + 3
2 18 5 5 5

1,25
5

5 5
216) 5a® + 10—+-a+ 8- 10—a - 2a® + 8- 10~a - 243
15 6 7 6 7

1 1 1
217) R TP Y G [ S S S P =
3 17 4 “15 17 4 15
1 1
218) 33 n4102m c1tneine o2t gl L ol
14 9 10 5 18 10 5 18
4 1 12 1 12
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Polynomials - Simplify 8 monomials and fractions with 1 variable:

Simplifying monomials and fractions with one variable:
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